BiNoripl L = EXTI = STFPM

‘Exercise-3:

1. Use the binomial theorem to expand each of the following.
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2. In each of the following expansions, find the term as stated. "‘
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Expand the expression
(2x + %)5 +(2x - 712-)5,
simplifying the terms.

4. The coefficient of x is four times the coefficient of x* in the expansion of (1 + x)". Find
value of . :

In the binomial expansion of (1 + %x)”, the coefficients of the fourth and fifth terms are equal.

: Find the value of n.

The coefficient of x° in the binomial expansion of (1 + 5x)? is the same as the coefficient of x*
in the expansion of (a + 5x)’. Find the value of a.

1If the first three terms in the expansion of (1 + ax)" in ascending powers of x are 1 —4x + 7x%,
find n and a.

Find the first four terms of each of the following expansions, in ascending powers of x.
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" Expand (1 + 2x + 3x)? in ascending powers of x up to and including the term in x°.
0. Find the first three terms, in ascending powers of x, of the expansion (1 — 3x)(1 + 2x)°.

Find the coefficient of the terms in x as indicated, in the following expansions.
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